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Cash flows $100 $100
| X1.08 +108
Future values $208 _X1.08 _ 522464

gl gL W8 a o)L SIS 535 SLASI100 g e sl @b L ol @
100 x 1.08%=116.64
955 Ao s (G B o %8 4y 0, L JUT0 5 5 s o 53 50231100
100 x 1.08 = 108
0 o € gon dd 99 593 gt ) g3l et 01, A

116.64 + 108 = 224.64
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S SO b, M8ay (S sy i IS I 2o L g S s SOkl s 2314000 8 5 e
23504 S 5,55 306 50,05 a SN a5 S Ol ay SLREIT000 sl g 50 55 53,0

Csdsomma S
SAsh S Smaynn S s el
7000 x 1.08 + 4000 = 11560
T TN PEESTENCRY PE
11560 x 1.08 + 4000 = 16484.80
U)J“:’ég;’“ﬁ)ﬁ%«)&p:’ﬂ S

16484.80 x 1.08 + 4000 = 21803.58
P sl S S8 s gy s aS

21803.58 x 1.08 = 23547.87

I ol 53] S SOl sl s %10 g0, LJ S 5y 3 S s ap JS 3 5 518312000 L3 o
sk s b s gV bl e pedss B e s olee SUs 2 S

0 1 2 3 4 5
| | l ] | 1 Time
I T ) 1 | T (yea rs)
$2,000 $2,000 $2,000 $2,000 $2,000
b g 05
0 1 2 3 4 5 .
L ] Time
I (years)
Beginning amount 5 $2, 200 54 620 $7.282 S10 210.20
+ Additions %11 2 000 2, 000 | 2,000 %1.1 2,000 %1.1 _2,000.00
Ending amount SO $2, 000 $4, 200 $6 620 $9 282 $12 210.20
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aiy b aan 5

0 1 2 3 4 5 Ti

: } : ! = | gime

$2,000 $2,000 $2,000 $2,000 $ 2,000.00

| x1.1
2,200.00
x1.12
2,420,00
x1.13
2,662.00
x1.14
2,928.20
Total future value $12,210.20

S ol ay Sa31300 S IS 5 5a0 . SLe31200 S IS so0a  Sla31100 SIK s s ay sulias @
Vope a5 NS o e a s (53306 a0 Y00 B S IS G2k B gmaS
100 x 1.07%=114.49

200x 1.07 =214

300 =300
Total =628.49
wosole a5
628.49 — (100 + 200 + 300) = 28.49
9] S S ey
628.49 x 1.07>=719.56
97 555 a1 011 s p 288

100 x 1.07% = 131.08
200 x 1.07% =245.01

300 x 1.07% = 343.47

Total =719.56
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PPN ISP 3 YR PWEPPLJwE SN T PP PURI G PURCHS S B N U FEVLN %7 I (Y
~3§@’:°ﬂ«.§ Lﬁﬁ'}f&ﬂ&&b@ﬁd@}ﬁLw'ﬁ;&ﬂotﬁﬁdﬁﬁd)ﬁdx°é

SS90 5 S SOEbag 5 5 Az laS e s bl gl 9 S NS w19 S0k

Cdmaob
83k by %9 5l IS 593 eyl sl 5012312000
2000/ 1.09%= 1683.36
W s ole SIS 0 an eyl g sl 5012511000
1000/ 1.09 =917.43
W)k eyl sl 5
1683.36 + 917.43 = 2600.79
:b_l};,xlja‘;s’aﬁd,\;lg@fwAﬁo)LQJLSox :2600.79?ydﬁdo)@gb¢ul N PP
2600.79 x 1.09 = 2834.86
S Sl a8, %9 a0, LU Jos 5 21834.86 5 55 sl g5 SRE11000 5 50 S i 5 5y
:6?,5&3
1834.86 x 1.09 = 2000

S Pl ki1 452000 545 5wy JU w533 5l g3 a5k SL8312000 G o S ol gy 2 S ]
64"5""‘L"‘"‘"‘"

633855, ke SLa311000 S sy 04 S 5 po,ld IS o s 2l aSSln gy > 5505 @
158 o5 e oo et 522 (SLRB11000 3 2 55 6955 5 8 Ny a3, gl 20 L 30 2 00
I SIS D g wbadesils 2 s Saz o o by
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0 1 2 3 4 5
| | | ] | |
I T T T T T
1,000 1,000 1,000 1,000 . 1,000
X1/1.06
943.40
2
890.00 X1/1.06
X 141.063
839.62 1/1.06
4
792.09 x1/1.06
5
747.26 X1/1.06
4,212.37 Total present value
r=6%

Time
(years)

S 95 S s o b sls S e, o s 0k a M (s

(1000/1.06) + 1000 = 943.40 + 1000 = 1943.40

:3‘;@? o s 5L 2

S pex 20 Ob oz G A 533 515 S oSl os3 g 3 b s S0 2 2 5 Y SS !

(1943.40/1.06) + 1000 = 1833.40 + 1000 = 2833.40

S osaalsl plea IS Y s a5 52 Y S

Present Value Calculated by Discounting Back One Period at a Time

Total present value = $4,212.37
r=6%

0 1 2 3 4 5
L l l 1 | |
I T T 1 I T i
$4,212.37 $3,465.11 $2,673.01 $1,833.40 < $ 94340« $  0.00 Time
0.00 1 1,000.00‘[ 1,000.00‘[ 1,000.00‘[ 1,000.001 1,000.00 {years)
$4,212.37 $4,465.11 $3,673.01 L4$2,833.40 L$1,943.40 L $1,000.00

800;61;.43)34,‘3“)5[,),15 .:ﬂéOOéJlSJgA#AOOJJLS(.AJM,;‘200éJK>xaﬁbﬁlﬁox

oo 03 Lol 5800 383 P S5 ale k12 1 L SSL Jas s ey 45 6 ke SLS

Csin a SOl

s e G 8L o) %12 g 3] s sl 0L s AB 8 2 3 L L g0
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200 X 1/1.12' = 200/1.1200 = 178.57

400 % 1/1.122 = 400/1.2544 = 318.88
600 x 1/1.12% = 600/1.4049 = 427.07
+ 800 X 1/1.12% = 800/1.5735 = 508.41

Total present value = 1,432.93

A3 a3 o ob o d S s) ¢ o ) po kil 2 (B 653 55515000 3453 5SS o
j...u.u}l.o).a'/.llybdawsJ)ﬂm_g)ja\ﬂsfﬁf))jidg&uubfd,\brﬁj) Alw 99
Ol P 338l uen €5 53 eyl sl S L 230 (SO, g0k B SIS g0k
8 S i e 2
:“J63QJLr°g;}l§Jyva“ﬁ¢~%})lQlJJ'Jg;.’jgi‘Lﬁ-3

( 5,000 x 1.11% + (5,000 x 1.11) 4+ 5,000 = 6,160.50 + 5,550 + 5,000
= 16,710.50

W o,le ool sl
16,710.50/1.115 = 8,934.12
gl Yyl smslobr g s pa pea b
5,000 x 1/1.115 = 5,000/1.8704 = 2,673.20

5,000 x 1/1.11° = 5,000/1.6851 = 2,967.26
+ 5,000 X 1/1.11* = 5,000/1.5181 = 3,293.65

Total present value = 8,934.12
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b o
(Annuities) wgkud U5

525 1350 0555 asise 388 s ISGa BbLSl gl 38 5L 2 S (3 St I3 Ao 22 @
S U dSaa Bbldls pewd S sed

C)po S s SA LI A s S g Gl i s p ey 0
o3k 5 4 (Ordinary Annuity) b g shaud IS gy 3 (mes
i 3| owl gl U5 s
OS5 3850 0055 & (S D506 535885 010 I (S0 5 5L sy
G o5 1 e 3 i)l Sl OL 2 (A8 53831500 5155535 (7 s 3y 455 5 o 5 i )
8 oL F %04 LLoL

Present value = ( 500/1.1") + (500/1.1%) + (500/1.1%)
= { 500/1.1) + (500/1.21) + (500/1.331)
= 454,55 + 413.22 + 375.66
= 1,243.43

g;"«_;)l‘L‘“"’ Jjﬁjéﬁ'ﬁu'gidﬂ&)géﬁ)ﬂ% SLL > A 93500 > 5“-’)55”)3-’ °
g osliinl aze s, 8 gV WL 6 J5 0L 2 M g slun 5l saaie

T

Annuity Present Value = C X {

83O, ke as dluas g 90 :t3|CJ3@) 31 edand 6,953 (C) ST S
PN CPUR PR PUPETST YU JUSP RN LIV SPURe > X1
TITIENT LW ﬁ 5 $8S iyl gl 3] 50559 3849
Present Value Factor :é = ﬁ = 0.75131

Sz 8 a3 B sl 305058 5 3 S 5y8l Y LSS eyl (sl s ST s
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Annuity present value factor 1 —0.75131
T 010

_0.248685
T 010

= 2.48685
:NJIJwﬂg«fjsdxﬂgc«gbldujlgﬂg 3
Annuity present value = 500 X 2.48685 = 1,243.43

632455 e Js il p oo o LB G sl s wa Sl g

St Vom0 > S50 8 85 2 a5 S 59 55050

bﬁb}UﬂLﬁ.ﬂ“’g JM})'&MJI&M}?&;632 Jjﬁg'){.{rjl&ﬁ)'.kbmijb)udii
:;{SMWCJBQZI seadiles

1

1ot
Annuity present value factor  _ (1.01)*8
0.01

- 120020 _ 379740
001 7T

9 o )] s 50 s (il 632 3 5 (6Y 55 0 o g3 4)
Present value = 632 X 37.9740 = 24,000
gl dag e Y s sedy)l sl sk ST JA VST e
Joogkee gbolusl s

Sl a5 Ym0 SLRB1100000 )00 90, S 35 g S yr eS8 o slid s 2yl s m e @
35l S Islopm shludl gsluw sy Sedsn IS s s )5 26y o608 2 &S 82
T8y S aewil bl 23 9 s M8F i)

b)d&é@@b}jﬁj'%lgéjﬁcuialOOOOO%})I&)'@)ﬂ}J
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1-—L
100000 _ . | (1.18)°
0.18

1-0.4371
0.18

=Cx3.1272

100000

= 31272 - W77

‘Jyoghe Sage 5 gl s

dgy}sgéa:yo,»}‘\#jsdjl.S%CJs‘_;;.:.&L?»@) :b&|}d&@:dﬁﬁ‘6;|ala&lg

(~ orsy)

50000 = 1000 x 0.015

L1
50000 * ~ (T.015)°

1000 0.015
50 x 0.015 =1

1

© (1.015)¢
1

075:1—m

1.015¢ = ! =4
' S 025
T S 3y 455 5 50
1.015%3 =399 ~ 4

Sy SIS 93/12=7750 2 AV S 6
Jgoghee & 5 gbludl s

083 o S A F P00 5 S gy 50 5 S )30 8 58 529 SB316710

57 Jasr (dsnenl Jlis g it fi 5l 4es i



g 635\.:-] ax 3 “ Jr"u—é S

11

10

6710 = 1000 x #

1

6710 1- 1+
1000 =~ 5
1oL
6.710 (14 1)1

T
s & rp-”lﬁj');ﬁ')u*s“ﬁb';sjﬁv\?d%—éjjlwﬁ|}-’t}k--‘sg;is’ sewiiyl re oz si VS
$38% Ol o SO sosk 2 Yol S ot 3 558,54 s

Annuity Future Value = C X

(1+7)t—-1
——

(els SOl nu o 5 b2l Sosseny JU3056,005 62

Annuity Future Value
= 100000 x

(1.08)3° — 1
0.08

= 100000 x [10'0627 - 1]
- 0.08

= 100000 x 113.2832
= 11328320

1SS 181 (T w0 4 53900 (7 B! U5

90 S (LN ol o lo sl 5 ambuwend 101l ol sl gl a 153w s S

Annuity due value = Ordinary annuity value X (1 + #)

S Jo s Annuity Due &5 sbludl owls @
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4:5.&.5 Lsc.?".:

7> bLdl S ware Iy 5l g5 o)l a3 (Perpetuities) b sbludl als 553 g 50 sb LSl JASTs o
SoeS J5S945 5553 50,3 (Preferred Stock) selg! jleas 3 > s g asd aSd I oL > g4 oon

Jo o 0ba i b (3 Y8 0 $aSS )0l r g mls swshul dogats a3 AT e
G el sl pshand cwlss o 55 IS B 5 psls eV o i)l sl 5l 5 S o5

v,;;'; o “ a> J o) 50

C
PV for a Perpetuity = -

i 53l 8 453 0 sSOL 90 5 3 gl s p 45 ¢ (S SLA3125000 5 s B U 2ol s oy @

(s el SN s, s STk S35

25000 _ 312500

Perpetuity PV = 008
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